THREE PHASE
ELECTRIC MOTORS
OPTIMIZED FOR

60 Hz

SR Koc



THREE PHASE MOTORS

ELECTRICAL CHARACTERISTICS AT 60 H:z

RATED VALUES STARTING VALUES
_— | Breckdown EFFICIENCY * Weight
HOUSING POWER | SPEED | CURRENT | ToRauE | Con | TORGUE | e (83)
TYPE ) M, /M, Ratio :
kW HP rpm Nm Mk/ Mn 4/4 ‘

2 pole 3600 rpm
Q3E7IM2C30 Auminium | 037 | 1/2 | 3468 | 15/09 10 9l 52 58 734 | 795 | 755 | 084 | 000028 8
Q3E7IM2D30 Aluminium | 055 | 3/4 | 3520 | 22/13 15 109 57 6.0 768 | 762 | 748 | 082 | 000036 | 10
Q3H8OM2C30 | Aluminum | 075 | 100 | 3498 | 28/16 20 101 38 44 770 | 764 | 757 | 087 | 000145 12
M 03HSOM2D30 | Auminum | 10 | 150 | 3520 | 40/23 30 13 42 47 840 | 828 792 | 089 | 000174 13
5 Q3HI0L2C30 Aluminium | 150 | 200 | 3535 | 52/30 4] 19 34 44 855 | 851 | 839 | 087 | 000249 | 17
I=]  Q3H90L2D30 Aluminium | 220 | 300 | 3555 | 76/44 59 120 34 47 865 | 863 | 837 | 086 | 000284 | 18
B 03Hi00L2D30 | Auminkm | 300 400 | 3530 | 99/57 81 131 40 49 885 879 | 862 | 091 | 000539 @ 25
Q3HI12M2C3I Aluminium | 400 | 550 | 355 | 130/75 109 15 3] 44 885 | 883 | 871 092 | 000606 | 32
Q3E13252C31 Aluminium | 550 | 750 | 3520 | 182/105 150 94 25 47 895 | 888 | 862 = 092 | 00109 48
Q3EI32M2A3] Aluminium | 750 | 1000 | 3540 | 235/136 | 203 24 33 122 902 | 907 | 892 091 | 001410 55
Q3EI60L2A30 | Aluminium | 100 | 1500 | 3565 | 205/118 295 154 47 53 910 | 899 | 872 09 | 002644 | 77
Q3EIBOL2B30 | Aluminum | 1500 | 2000 | 3567 | 289/167 40] 71 51 05 910 | 906 | 886 | 086 | 003377 @ 77
Q3EI60L2C30 | Aluminium | 1850 | 2500 | 3565 | 340/196 | 496 b4 49 49 917 | 956 | 901 | 089 | 004075 | 90
M 03HIBOM2A30 | Aluminium | 2200 | 3000 | 3570 | 330/225 | 589 126 35 35 917 914 | 907 | 091 | 009461 | 135
= 03H200L2030 | Auminum | 3000 | 4000 | 3564 | 528/305 | 805 104 27 44 924 | 931 | 919 093 | 010373 | 153
] 03H20012D30 | Auminum | 3700 | 5000 | 3570 | 665/383 | 990 24 36 42 930 | 927 | 920 | 089 | 0479 | 165
Bl 03eo05MoC30 | Auminim | 4500 6000 | 3550 | 797/460 | 1218 69 19 37 936 | 941 | 938 | 092 | 019833 | 249
Q3EP250M2D30 | Castron | 5500 | 7500 | 3575 | 944/545 | 1470 86 18 36 939 | 936 | 923 | 093 | 048707 | 488
Q3EP280M2C30 | Cost ron | 7500 | 10000 | 3560 | 1291/745 | 2012 72 21 51 941 | 940 | 938 | 094 | 054033 | 585
Q3EP280M2D30 | Cast Iron | 9000 | 12500 | 3565 | 156.0/90] | 24l 74 25 55 950 | 950 | 948 | 094 | 06450 & 596

4 pole 1800 rpm
Q3HBOM4C30 | Auminum | 055 | 3/4 | 1745 | 23/14 30 67 25 34 8l | 806 | 792 | 075 | 000220 | 12
Q3H8OM4D30 | Auminum | 075 | 100 | 1745 | 31/18 4) 75 32 39 855 | 840 | 813 075 | 000210 12
Q3H90L4D30 Auminium | 110 | 150 | 1755 | 47/27 6.0 161 121 147 865 | 856 | 822 | 072 | 00058 19
=4  Q3HI0L4E30 Auminium | 150 | 200 | 1748 | 65/38 82 77 32 44 865 | 857 | 826 | 072 | 000492 | 19
§ Q3HIOOL4E32 | Aluminum | 220 | 300 | 1763 | 86/50 120 109 37 52 865 | 894 | 873 | 076 | 00033 35
Il Q3HI00L4E30 | Aluminium | 300 | 400 | 1763 | 120/70 162 10l 35 56 895 | 891 | 868 | 073 | 00133 35
Q3HII2M4E3] Aluminium | 400 | 550 | 1757 | 147/85 219 96 28 44 895 | 894 | 874 08 | 001592 40
Q3EI32M4D3 Auminum | 550 | 750 | 1760 | 19.4/12 300 78 23 37 917 915 | 902 | 082 | 002097 @ 66
Q3HI32M4E3] Aluminium | 750 | 1000 | 1769 | 251/148 | 406 71 24 36 917 96 | 903 | 085 | 004618 @ 65
Q3EIBOL4AE30 | Aluminium | 100 | 1500 | 1778 | 233/134 | 592 104 37 38 924 | 919 | 906 | 078 | 005547 | 102
Q3HIBOL4B30 | Aluminium | 1500 | 2000 | 1777 | 297/171 806 7.7 25 32 930 | 929 | 921 079 | 009137 | 10l
Q3HIBOL4A30 | Aluminum | 1850 | 2500 | 1780 | 346/200 | 992 100 28 33 936 | 930 | 924 | 087 | 018592 | 145
M 03HI80L4B30 | Auminum | 2200 | 3000 | 1780 | 421/243 181 95 29 28 936 | 935 | 928 | 084 | 017709 | 158
(Z8  03H200L4D30 | Alminum | 3000 4000 | 1778 | 560/323 | 1612 88 27 27 941 | 940 | 931 | 086 | 022223 | 194
=¥ (Q3E225M4D30 | Aluminium | 3700 | 5000 | 1780 | 71I/4l1 1983 102 38 38 945 | 941 | 927 | 084 | 036429 | 280
Bl 03E025MaDESO | Aluminium | 4500 | 6000 | 1780 | 869/502 | 2412 95 36 37 950 | 948 = 938 | 083 | 043513 | 277
Q3EP250M4E30 | Cast ron | 5500 | 7500 | 1791 | 107.3/619 | 2934 88 29 47 954 | 950 | 939 | 081 | 046270 | 506
Q3EP280M4D30 | Costlron | 7500 | 10000 | 1790 | 1410/814 | 1396 89 93 152 954 | 953 | 945 | 085 | 10604 | 653
Q3EP280M4DE30 | Cast Iron | 9000 | 12500 | 1790 | 1741/1005 | 1727 71 65 175 954 | 951 | 944 | 082 | 114768 | 653

* According to IEC 60034-2-1

WAT | IMBO en 200



DIMENSION - B3

© G

M 7
o EO [e] [e] ‘
o =R |
\@\I_ - ;Ti i{»‘ = e }
2 |
TH il =
E C B K
L

Number Housing
of Poles Tupe

037 2 Q3E7IM2C30 Aluminium | 138 253 | 1xM20 90 mn | 7 190 7 | 45 14 | 30 1800 | 5 6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5
055 2 Q3E7IM2D30 Aluminium | 138 253 | 1xM20 90 n | 7 190 7 | 45 | 14 | 30 | 1600 | 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5
055 4 Q3HBOM4C30 | Aluminium | 158 268 | 1xM20 100 125 | 80 | 2155 | 10 | 50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
075 2 Q3H80M2C30 | Aluminium | 158 268 | 1xM20 100 125 | 80 | 2155 | 10 | 50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
075 4 Q3H80M4D30 | Aluminium | 158 268 | 1xM20 100 125 | 80 2155 | 10 | 50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
110 2 Q3H80M2D30 | Aluminium | 158 268 | 1xM20 100 125 | 80 | 2155 | 10 | 50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
110 4 Q3H90L4D30 Aluminium | 172 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 2700 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7
150 2 Q3H90L2C30 Aluminium | 172 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 2700 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7
150 4 Q3H90L4E30 Aluminium | 172 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 ' 2700 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7
220 2 Q3H90L2D30 Aluminium | 172 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 2700 | 8 |6305-ZZ| 6205-ZZ | 25*40*7 | 25*40*7
220 4 Q3HIOOL4E32 | Aluminium | 192 422 | 1xM25 140 160 | 100 | 2425 | 12 | 63 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7
300 2 Q3HI00L2D30 | Aluminium | 192 | 400 | 1xM25 140 160 | 100 | 2425| 12 | 63 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7
300 4 Q3HIO0L4E30 Aluminium | 192 422 | 1xM25 140 160 | 100 | 2425 12 | 63 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7
4,00 2 Q3H12M2C31 Aluminium | 210 396 | 2xM25 140 190 | 12 | 2645| 12 | 70 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7
4,00 4 Q3HI12M4E3I Aluminium | 210 396 | 2xM25 140 190 | 12 | 2645 12 | 70 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7
550 2 Q3EI132S2C3l Aluminium | 253 441 | 2xM32 | 140-178 | 216 | 132 | 314 12 | 89 | 38 | 80 | 4100 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
5,50 4 Q3EI32M4D3I Aluminium | 253 | 476 | 2xM32 | 140-178 | 216 | 132 | 34 12 1 89 | 38 | 80 | 4100 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
750 2 Q3EI32M2A31 Aluminium | 253 | 476 | 2xM32 | 140-178 | 216 | 132 | 34 12 | 89 | 38 | 80 | 4100 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
750 4 Q3HI32M4E3I Aluminium | 260 | 539 | 2xM32 | 140-178 | 216 | 132 | 322 | 12 | 89 | 38 | 80 | 4100 | 10 | 6208-ZZ | 6208-ZZ | 40*62*I0 | 40*62*10
.00 2 Q3EIBOL2A30 | Aluminium | 302 | 576 | 2xM32 | 210-254 | 254 | 160 | 360 | 145 | 108 | 42 | N0 | 4500 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
1.00 4 Q3EIBOL4AE30 | Aluminium | 302 | 576 | 2xM32 | 210-254 | 254 | 160 | 360 | 145 | 108 | 42 | N0 | 4500 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
15.00 2 Q3EI60L2B30 Aluminium | 302 | 576 | 2xM32 | 210-254 | 254 | 160 | 360 | 145 | 108 | 42 | N0 | 4500 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
15,00 4 Q3HIB0L4B30 | Aluminium | 305 591 | 2xM32 | 210-254 | 254 | 160 | 368 | 145 | 108 | 42 | 10 | 4500 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
18,50 2 Q3E160L2C30 | Aluminium | 302 | 576 | 2xM32 | 210-254 | 254 | 160 | 360 | 145 | 108 | 42 | N0 | 4500 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
18.50 4 Q3HIBOL4A30 | Aluminium | 349 | 696 | 2xM40 | 241-279 | 279 | 180 | 437 | 145 121 | 48 | 10 | 5150 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
22,00 2 Q3HIBOM2A30 | Aluminium | 349 | 696 | 2xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | N0 | 5150 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*I10
22,00 4 Q3HIBOL4B30 | Aluminium | 349 | 696 | 2xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | 110 | 5150 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
30,00 2 Q3H200L2C30 | Aluminium | 349 | 706 | IxM50 305 318 | 200 | 455 | 185|133 | 55 | N0 | 5900 16 | 6312-ZZ | 6310-ZZ | 60*30*10 | 60*90*10
30,00 4 Q3H200L4D30 | Aluminium | 349 | 759 | IxM50 305 318 200 | 455 | 185 133 | 55 | 10 | 5900 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10
3700 2 Q3H200L2D30 | Aluminium | 349 | 706 | 1xM50 305 318 | 200 | 455 | 185|133 | 55 | 10 | 5900 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10
3700 4 Q3E225M4D30 | Aluminium | 456 | 765 | 2xM50 | 286-31l | 356 | 225 | 485 | 185 | 149 | 60 | 140 | 64,00 | 18 | 6313-ZZ | 63I13-ZZ | 65*100*13 | 65*100*13
45,00 2 Q3E225M2C30 | Aluminium | 456 | 735 | 2xM50 | 286-311 | 356 | 225 | 485 | 185 | 149 | 55 | 10 | 5900 | 16 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13
4500 4 Q3E225M4DE30 | Aluminium | 456 | 765 | 2xM50 | 286-311 | 356 | 225 | 485 | 185 | 149 | 60 | 140 | 6400 | 18 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13
5500 2 Q3EP250M2D30 | Costlron | 489 | 893 | 2xM50 | 31-349 | 406 | 250 | 616 | 30 | 149 | 65 | 140 | 6900 | 18 | 6316-Z 6316-Z | 80*100*10 | 80*100*10
55,00 4 Q3EP250M4E30 | Costlron | 489 | 893 | 2xM50 | 311-349 | 406 | 250 | 616 | 30 | 149 | 65 | 140 | 6900 18 | 63I6-Z 6316-Z | 80*100*10 | 80*100*10
7500 2 Q3EP280M2C30 | Cast Iron | 489 | 1025 | 2xMS0 | 368-419 | 457 | 280 | 647 | 24 | 190 | 65 | 140 | 6900 | 18 6316 6316 80*100*10 | 80*100*10
75,00 4 Q3EP280M4D30 | Costlron | 489 | 1025 | 2xM50 | 368-419 | 457 | 280 | 647 | 24 | 190 | 65 | 140 | 6900 18 6316 6316 80*100*10 | 80*100*10
90,00 2 Q3EP280M2D30 | Cost lron | 489 | 1025 | 2xM50 | 368-419 | 457 | 280 | 647 | 24 | 190 | 65 | 140 | 6900 | 18 6316 6316 80*100*10 | 80*100*10
90,00 4 Q3EP280M4DE30 | Cost Iron | 489 | 1025 | 2xM50 | 368-419 | 457 | 280 | 647 | 24 | 190 | 65 | 140 | 6900 18 6316 6316 80*100*10 | 80*100*10

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm

(2) According to DIN 6885

WAT | IMBO en 200



IE3

DIMENSION - B5, B35

SRS

o
LSS

THREE PHASE MOTORS

Ny
EA i {o o /o
HiE== |
B S=—20 ——
AN | = —
1 ‘L | = ‘J
A o o Ho
2 -
£ C B
L

Mcin Dimensions Foot Mounted Bearing
g‘fu;ﬁs; Motor Type Hg:;gg Drive Side Nogﬁ:ve Drive Side Nog‘ggwe
037 2 Q3E7IM2C30 Aluminium | 138 | 253 | 1xM20 90 w’ | 7 190 7 | 45 |14 |30 | 1800 | 5 | 6202-ZZ | 6202-ZZ | 15*24*S 15%24*5 | 160 | 10 | 130 10
055 2 Q3E7IM2D30 Aluminium | 138 | 253 | 1xM20 90 w’ | 7 190 7 | 45 |14 | 30 | 1800 | 5 | 6202-ZZ | 6202-ZZ | 15*24*S 15*24*5 | 160 | 10 | 130 0
055 4 Q3H8OM4C30 | Aluminium | 158 | 268 | 1XM20 100 125 | 80 | 2155 | 10 | 50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 2
075 2 Q3H8OM2C30 | Aluminium | 158 | 268 | 1XM20 100 25 | 80 | 255 | 10 | 50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 2
075 4 Q3H8OM4D30 | Aluminium | 158 | 268 | 1xM20 100 125 | 80 | 2155 | 10 | 50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 2
110 2 Q3H8OM2D30 | Aluminium | 158 | 268 | 1XM20 100 25| 80 | 2155 | 10 | 50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 2
110 4 Q3HI0L4D30 Aluminium | 172 | 344 | 1XM25 | 100-125 | 140 | 90 223 | 10 | S6 |24 | 50 | 2700 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 12
150 2 Q3H90L2C30 Aluminium | 172 | 344 | xM25 | 100-125 | 140 | 90 223 | 10 | S6 |24 | 50 | 2700 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 12
150 4 Q3H90L4E30 Aluminium | 172 | 344 | xM25 | 100-125 | 140 | 90 223 | 10 | S |24 | 50 | 2700 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 2
220 2 Q3HI0L2D30 Aluminium | 172 | 344 | 1XM25 | 100-125 | 140 | 90 223 | 10 | 56 |24 | 50 | 2700 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 2
220 4 Q3HIO0L4E32 | Aluminium | 192 | 422 | xM25 140 160 | 100 | 2425 | 12 | 63 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30%47*7 | 250 | 180 | 2I5 145
300 2 Q3HIO0L2D30 | Aluminium | 192 | 400 | 1xM25 140 160 | 100 | 2425 | 12 | 63 | 28| 60 | 3100 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30%47*7 | 250 | 180 | 2I5 145
300 4 Q3HIOOL4E30 | Aluminium | 192 | 422 | xM25 140 160 | 100 | 2425 | 12 | 63 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30%47*7 | 250 | 180 | 2I5 145
4,00 2 Q3HI2M2C31 Aluminium | 210 | 396 | 2xM25 140 190 | M2 | 2645 | 12 | 70 | 28| 60 | 3100 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30%47*7 | 250 | 180 | 2I5 145
400 4 Q3HI2M4E3] Aluminium | 210 | 396 | 2xM25 140 190 | m2 | 2645 | 12 | 70 | 28| 60 | 3100 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 2IS 145
550 2 Q3E13252C31 Aluminium | 253 | 441 | 2xM32 | 140-78 | 216 | 132 314 12 | 83 |38 8 | 4100 | 10 | 6208-ZZ | 6208-ZZ | 40*62*I0 | 40*62*10 | 300 | 230 | 265 145
550 4 Q3E132M4D31 Aluminium | 253 | 476 | 2xM32 | 140-178 | 216 | 132 314 12| 89 | 38| 80 | 4100 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 145
750 2 Q3EI32M2A31 | Auminium | 253 | 476 | 2xM32 | 140-78 | 216 | 132 314 12 | 83 |38 8 | 4100 | 10 | 6208-ZZ | 6208-ZZ | 40*62*I0 | 40*62*I0 | 300 | 230 | 265 145
750 4 Q3HI32M4ES] Aluminium | 260 | 539 | 2xM32 | 140-78 | 216 | 132 | 322 | 12 | 89 |38 | 80 | 4100 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*I0 | 300 | 230 | 265 145

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm

(2) According to DIN 6885
(3) Tolerance DIN EN 50347 “j6”

IME0 en 200



IE3

THREEPHASE MOTORS

n Dimensior Foot Mount ors Shaft Bearing Flange (FA) (BS)
= L L L e e L
100 2 Q3E160L2A30 | Aluminium | 302 2xM32 | 210-254 4500 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 185
100 4 Q3EIBOL4AE30 | Aluminium | 302 | 576 | 2xM32 | 210-254 | 254 | 160 | 360 | 145 | 108 | 42 | 10 | 4500 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | - | 185
15.00 2 Q3EI60L2B30 | Aluminium | 302 | 576 | 2xM32 | 210-254 | 254 | 160 | 360 | 145 | 108 | 42 | 10 | 4500 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | - | 185
1500 4 Q3HIE0L4B30 | Aluminium | 305 | 591 | 2xM32 | 210-254 | 254 | 160 | 368 | 145 | 108 | 42 | N0 | 4500 | 12 | 6309-ZZ | 6209-ZZ | 45*72¥0 | 45*72*10 | 350 | 250 | 300 | - | 185
1850 2 Q3EI60L2C30 | Aluminium | 302 | 576 | 2xM32 | 210-254 | 254 | 160 | 360 | 145 | 108 | 42 | 10 | 4500 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | - | 185
1850 4 Q3H1I80L4A30 | Aluminium | 349 | 696 | 2xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 |48 | MO | 5150 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*I0 | 350 | 250 | 300 | - | 185
2200 2 Q3HIBOM2A30 | Aluminium | 349 | 696 | 2xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | N0 | SIS0 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | S0*80*I0 | 350 | 250 | 300 | - | 185
2200 4 Q3HIBOL4B30 | Aluminium | 349 | 696 | 2xM4Q | 241279 | 279 | 180 | 437 | 145 | 121 |48 | N0 | 5150 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*I0 | 350 | 250 | 300 | - | 185
3000 2 Q3H200L2C30 | Aluminium | 349 | 706 | xMSO 305 318 | 200 | 455 | 185 | 1383 | S5 | 0 | 5900 | 16 | 6312-ZZ | 6310-ZZ | 60*90*I0 | 60*90*10 | 400 | 300 | 350 | - | 185
3000 4 Q3H200L4D30 | Aluminium | 349 | 759 | 1XMS0 305 318 | 200 | 455 | 185 | 133 | 55| 0 | 5900 | 16 | 6312-ZZ | 6310-ZZ | 60*90*I0 | 60*90*10 | 400 | 300 | 350 | - | 185
37,00 2 Q3H200L2D30 | Aluminium | 349 | 706 | M5O 305 318 | 200 | 455 | 185 | 1383 |55 | 10 | 5900 | 16 | 6312-ZZ | 6310-ZZ | 60*90*I0 | 60*90*10 | 400 | 300 | 350 | - | 185
3700 4 Q3E225M4D30 | Aluminium | 456 | 765 | 2xMS0 | 286-31 | 356 | 225 | 485 | 185 | 149 | 60 | 140 | 6400 | 18 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13 | 450 | 350 | 400 | - | 185
4500 2 Q3E225M2C30 | Aluminium | 456 | 735 | 2xM50 | 286-311 | 356 | 225 | 485 | 185 | 149 | 55 | 10 | 5900 | 16 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13 | 450 | 350 | 400 | - | 185
4500 4 Q3E225M4DE30 | Aluminium | 456 | 765 | 2xMS0 | 286-31 | 356 | 225 | 485 | 185 | 149 | 60 | 140 | 6400 | 18 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13 | 450 | 350 | 400 | - | 185
55,00 2 Q3EP250M2D30 | Costlon | 489 | 893 | 2xMS0 | 31-349 | 406 | 250 | 616 | 30 | 149 | 65 | 140 | 6900 | 18 | 6316-Z 6316-Z | 80*100*I0 | 80*I00*I0 | 550 | 450 | 500 | - | 185
55,00 4 Q3EP250M4E30 | Costlron | 489 | 893 | 2xMS0 | 31-349 | 406 | 250 | 616 | 30 | 149 | 65 | 140 | 6900 | 18 | 6316-Z 6316-Z | 80*100*10 | 80*100*10 | 550 | 450 | 500 | - | 185
75.00 2 Q3EP280OM2C30 | Castlron | 489 | 1025 | 2xMSO | 368-419 | 457 | 280 | 647 | 24 | 190 | 65 | 140 | 6900 | 18 6316 6316 80*100*10 | 80*I00*10 | 550 | 450 | 500 | - | 185
7500 4 Q3EP280M4D30 | Costlron | 489 | 1025 | 2xMSO | 368-419 | 457 | 280 | 647 | 24 | 190 | 65 | 140 | 6900 | 18 6316 6316 80*100*10 | 80*100*10 | 550 | 450 | 500 | - | 185
90,00 2 Q3EP280OM2D30 | Castlron | 489 | 1025 | 2xMsSO | 368-419 | 457 | 280 | 647 | 24 | 190 | 65 | 140 | 6900 | 18 6316 6316 80*100*10 | 80*I00*10 | 550 | 450 | 500 | - | 185
90,00 4 Q3EP28OM4DE30 | Cost Iron | 489 | 1025 | 2xMS0 | 368-419 | 457 | 280 | 647 | 24 | 190 | 65 | 140 | 6900 | 18 6316 6316 80*100*10 | 80*100%10 | 550 | 450 | 500 | - | 185

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 “j6”

AT | IMBO en 20



IE3

THREE PHASE MOTORS

DIMENSION - Bl4a, B34a

= :
° 0 |
A -
a|= @\r» =) - ﬁo w < -
SY)S 2 e S - < -
LA £ |
|
e o 3 0
= T - 1
K
£ C B
Main Dimensions Foot Mounted Motors Shaft Bearing Seal Flange (FC) (Bl4a)
P[EV\X/E{ H?:Z;ng Drive Side Nogiéi;ive Drive Side Nugisgve
037 2 Q3E7IM2C30 | Aluminium | 138 | 253 | IxM20 | 90 | M2 | 71 | 190 | 7 |45 | 14 | 30 | 1600 | 5 | 6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 M6
055 2 | Q3E7IM2D30 | Aluminium | 138 | 253 |IxM20 | 90 |12 | 71 | 190 | 7 |45 | 14 | 30 | 1600 | 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 M6
055 4 | Q3HBOM4C30 | Aluminium | 158 | 268 |1xM20 | 100 | 125 | 80 | 2155 | 10 | 50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6
075 2 | Q3H8OM2C30 | Aluminium | 158 | 268 |1xM20 | 100 | 125 | 80 | 2155 | 10 |50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6
075 4 | Q3HBOM4D30 | Aluminium | 158 | 268 |1xM20 | 100 | 125 | 80 | 2155 | 10 | 50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6
110 2 | Q3H8OM2D30 | Aluminium | 158 | 268 |1xM20 | 100 | 125 | 80 | 2155 | 10 |50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6
110 4 Q3H90L4D30 | Aluminium | 172 | 344 | 1xM25 |100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 2700 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 M8
150 2 Q3H90L2C30 | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 2700 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 M8
150 4 Q3HI0L4E30 | Aluminium | 172 | 344 | 1xM25 |100-125| 140 | 90 | 223 | 10 | 56 | 24 | 50 | 2700 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 M8
220 2 Q3H90L2D30 | Aluminium | 172 | 344 | 1xM25 [100-125 140 | 90 | 223 | 10 | 56 | 24 50 | 2700 8 | 6305-ZZ | 6205-ZZ @ 25*40*7 | 25*40*7 | 140 | 95 | 15 M8
220 4 Q3HIOOL4E32 | Aluminium | 192 | 422 | 1xM25 | 140 160 | 100 | 2425 | 12 | 63 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 160 | 1O | 130 M8
300 2 | Q3HI00L2D30 | Aluminium | 192 | 400 |1xM25 | 140 | 160 | 100 | 2425 | 12 | 63 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 M8
300 4 | Q3HIO0L4E30 | Aluminium | 192 | 422 | 1xM25 | 140 | 160 | 100 | 2425 | 12 | 63 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 M8
4,00 2 | Q3HN2M2C31 | Aluminium | 210 | 396 |2xM25| 140 | 190 | 12 | 2645 | 12 | 70 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 M8
4,00 4 Q3HN2M4E31 | Aluminium | 210 | 396 |2xM25| 140 | 190 | M2 | 2645 | 12 | 70 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 M8
550 2 | Q3EI8252C31 | Aluminium | 253 | 441 |2xM32 | 140-178 | 216 | 182 | 314 | 12 | 89 | 38 | 80 | 4100 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10| 200 | 130 | 165 MIO
550 4 | Q3EI32M4D31 | Aluminium | 253 | 476 |2xM32|140-178 | 216 | 132 | 314 | 12 | 89 | 38 | 80 | 4100 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 MI0
750 2 | Q3EI32M2A31 | Aluminium | 253 | 476 |2xM32 | 140-178 | 216 | 182 | 314 | 12 | 89 | 38 | 80 | 4100 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10| 200 | 130 | 165 MIO
750 4 | Q3HI32M4E31 | Aluminium | 260 | 539 |2xM32|140-178 | 216 | 132 | 322 | 12 | 89 | 38 | 80 | 4100 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 MIO

(1) Tolerance DIN EN 50347 "j6" up to 28mm, "k6" above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 "j6"

WAT | IMBO en 200



IE3

THREEPHASE MOTORS

DIMENSION - Blab, B34b

Lx90°

[L 11
7 <
T ‘E"o o o
T
= o ‘ =+ ° O
Sla| el = =0 2 =
L g |
A =
e o e |
i T TF =
I K|l
£ C | B |
L L
L
Main Dimensions Foot Mounted Motors Shaft Bearing Seal Flange (FC) (Bl4a)
Power |Number Housing Non drive Non drive
(kW] Tupe Drive Side Side Drive Side Side
037 2 Q3E7IM2C30 | Aluminium | 138 | 253 | 1xM20 90 nmn |7 190 7 45|14 | 30 | 1600 | 5 | 6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | 15 | - | M8
0,55 2 Q3E7IM2D30 | Aluminium | 138 | 253 | 1xM20 90 nmn |7 190 7 45|14 | 30 1600 | 5 | 6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | 15 | - | M8

055 4 | Q3HBOM4C30 | Aluminium | 158 | 268 | IxM20 | 100 | 125 | 80 | 2155 | 10 | 50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 | - | M8

075 2 | Q3H8OM2C30 | Aluminium | 158 | 268 | IxM20 | 100 | 125 | 80 | 2155 | 10 | 50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 ' 160 | 10 | 130 | - | M8
075 4 | Q3H8OM4D30 | Aluminium | 158 | 268 | IxM20 | 100 | 125 | 80 | 2155 | 10 | 50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 | - | M8
110 2 | Q3H80M2D30 | Aluminium | 158 | 268 | IxM20 | 100 | 125 | 80 | 2155 |10 | 50 | 19 | 40 | 2150 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 ' 160 | 10 | 130 | - | M8
110 4 Q3H90L4D30 | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 2700 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 | - | M8
150 2 Q3H90L2C30 | Aluminium | 172 | 344 | 1xM25 [100-125 140 | 90 | 223 | 10 | 56 24 50 | 2700 8 | 6305-ZZ  6205-ZZ @ 25*40*7 | 25*40*7 | 160 | 10 | 130 K - M8
150 4 Q3HI0L4E30 | Aluminium | 172 | 344 | 1xM25 | 100-125| 140 | 90 | 223 | 10 | 56 | 24 | 50 | 2700 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 | - | M8
220 2 Q3H90L2D30 | Aluminium | 172 | 344 | 1xM25 |100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 2700 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 | - | M8

220 4 | Q3HI00L4E32 | Aluminium | 192 | 422 | 1xM25 | 140 | 160 | 100 | 2425 | 12 | 63 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO

300 2 | Q3HI00L2D30 | Aluminium | 192 | 400 | 1xM25 | 140 | 160 100 | 2425 | 12 | 63 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO
300 4 | Q3HIOOL4E30 | Aluminium | 192 | 422 | 1IxM25| 140 | 160 | 100 | 2425 | 12 | 63 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO

4,00 2 Q3HNI2M2C31 | Aluminium | 210 | 396 |2xM25| 140 | 190 | 12 | 2645 12 | 70 | 28 | 60 K 3100 | 8 | 6306-ZZ 6206-ZZ | 30*47*7 | 30*47*7 1 200 130 | 165 | - | MIO
4,00 4 Q3HN2MA4E3T | Aluminium | 210 | 396 |2xM25| 140 190 | 12 | 2645 12 | 70 | 28 | 60 | 3100 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO

5,50 2 Q3E13252C31 | Aluminium | 253 | 441 | 2xM32 140-178 | 216 | 132 | 314 | 12 | 89 38 80 | 4100 10 | 6208-ZZ | 6208-ZZ | 40*62*10  40*62*10 250 | 180 | 215 | - | M2
550 4 | Q3E132M4D31 | Aluminium | 253 | 476 | 2xM32|140-178 | 216 | 132 | 314 | 12 | 89 | 38 | 80 | 4100 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 250 | 180 | 215 | - | M2

750 2 | (3EI32M2A31 | Aluminium | 253 | 476 | 2xM32|140-178 | 216 | 132 | 314 | 12 | 89 | 38 | 80 | 4100 | 10 | 6208-ZZ  6208-ZZ | 40*62*10 | 40*62*10 250 180 | 215 | - | M2
750 4 | Q3HI32M4E31 | Aluminium | 260 | 539 |2xM32|140-178 | 216 | 132 | 322 | 12 | 89 | 38 | 80 | 4100 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 250 | 180 | 215 | - | M2

(1) Tolerance DIN EN 50347 "j6" up to 28mm, "k6" above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 "j6"



G Kog

WAT MOTOR SANAYi ve TICARET A.S. LIAISON OFFICE ) _ CALL CENTER
KARAAGAG MAHALLESI 8, SOKAK NO: 4 A/2 SUTLUCE MAHALLESI KARAAGAG CADDESI NO: 2-6 +90 850 399 4 928
KAPAKLI 59510 TEKIRDAG, TURKEY BEYOBLU 34445 ISTANBUL, TURKEY watcom.tr | sales@wat.com.tr

IMB0 en 200




